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Bruchterme multiplizieren fu r Kö nner 

Lösungsblatt  

Level  1 : 
 

 2𝑧 + 4 

6𝑧 − 4
∙

12𝑧 − 8 

𝑧 + 2
=

2 ∙ (𝑧 + 2)

2 ∙ (3𝑧 − 2)
∙

4 ∙ (3𝑧 − 2)

𝑧 + 2
=

2 ∙ 4

2
=

4

1
= 𝟒 

 15 + 9𝑧 

8𝑧 − 12
∙

16𝑧 − 24 

45 + 27𝑧
=

3 ∙ (5 + 3𝑧)

4 ∙ (2𝑧 − 3)
∙

8 ∙ (2𝑧 − 3)

9 ∙ (5 + 3𝑧)
=

31 ∙ 82

41 ∙ 93
=

1 ∙ 2

1 ∙ 3
=

𝟐

𝟑
 

 5𝑥 + 15 

12 − 6𝑥
∙

6 − 3𝑥 

30 + 10𝑥
=

5 ∙ (𝑥 + 3)

6 ∙ (2 − 𝑥)
∙

3 ∙ (2 − 𝑥)

10 ∙ (3 + 𝑥)
=

51 ∙ 31

62 ∙ 102
=

1 ∙ 1

2 ∙ 2
=

𝟏

𝟒
 

 6𝑦 + 3 

2𝑦 − 6
∙

 5𝑦 − 15 

6𝑦 + 12
=

3 ∙ (2𝑦 + 1)

2 ∙ (𝑦 − 3)
∙

5 ∙ (𝑦 − 3)

62 ∙ (𝑦 + 2)
=

(2𝑦 + 1) ∙ 5

2 ∙ 2 ∙ (𝑦 + 2)
=

𝟓 ∙ (𝟐𝒚 + 𝟏)

𝟒 ∙ (𝒚 + 𝟐)
 

 

Level  2 : 
 

(5𝑥 + 3)2 ∙
1 

25𝑥2 − 9
=

(5𝑥 + 3) ∙ (5𝑥 + 3)

1
∙

1

(5𝑥 + 3) ∙ (5𝑥 − 3)
=

𝟓𝒙 + 𝟑

𝟓𝒙 − 𝟑
 

 2𝑦 + 2 

3𝑥 − 1
∙

9𝑥2 − 1 

4𝑦2 − 4
=

2𝑦 + 2

3𝑥 − 1
∙

(3𝑥 − 1) ∙ (3𝑥 + 1)

(2𝑦 + 2) ∙ (2𝑦 − 2)
=

𝟑𝒙 + 𝟏

𝟐𝒚 − 𝟐
 

 3 − 𝑧 

6𝑧 − 6
∙ (4𝑧2 − 4) =

3 − 𝑧

3 ∙ (2𝑧 − 2)
∙

(2𝑧 − 2) ∙ (2𝑧 + 2)

1
=

(𝟑 − 𝒛) ∙ (𝟐𝒛 + 𝟐)

𝟑
 

(𝑎 −
𝑏

𝑐
) ∙ (𝑎 +

𝑏

𝑐
) = 𝑎2 − (

𝑏

𝑐
)

2
= 𝒂𝟐 −

𝒃²

𝒄²
  

 

Lösungen Level 1:    Lösungen Level 2: 
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